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TRIGONOMETRY




OBJECTIVE

TO USELHESINE,

COSINE AND TANGENT
RATIOS TO DETERMINE
51D EREENGERS




VOCABULARY

By the AA Similarity Postulate, a

right triangle with
a given acute angle is similar to £
every other right triangle with

that same acute angle measure.

So AABC ~ ADEF ~ AXYZ, and lx /
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trigonometric ratios. A

trigonometric ratio is a ratio of

two sides of a right triangle.



VOCABULARY
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i CLASS WORK
trigonometric
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Use special

':ir?ah:gles to CLAS s WO RK

find the
following: 2. cos30" = $Y3 _ 13
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Use a
calculator to
find the
following
trigonometric
ratios: (round

to four
decimal
places.

CLASS WORK
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i CLASS WORK
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i CLASS WORK

Round to the
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11.
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Find the
value of t.
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CLASS WORK

15. A 12-ft-long ladder is leaning against a wall and makes a 77° angle
with the ground. How high does the ladder reach on the wall?
Round to the nearest inch.
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16. A straight ramp rises at an angle of 25.5" and has a base 30 ft long.
How high is the ramp? Round to the nearest foot.
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EXIT PROBLEMS

17. Write the ratios for sin X, cos X, and tan X.
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18. Find the value of x. Round to the nearest tenth.
Q7
V] X + W 5(
an®d =
S .4

29
=54 (Han2)= 3,0




SUMMARY

= SINA = 222 soH
hyp

. O e
hyp

TANA =L Ton

ad ]



HOMEWORK

PAGES 545 - 543
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